YRR20FESHWMIE FEHE

(847 : F)
28FEORIE| 10 B =
2 i K DBENTSE SABEE| & =
a FEREDb (Ca-b) (%)
— i = £t 26,343,600| 1,214,000|27,557,600| 29,393,200| A 1,835,600 A B2
% OBl = | 18,511,000 7723711858823 7| 18545,561 42,676 02
NEFZazt| 2243800  7.900|2.251,700] 2.361,393| A 109,693 A46
=) 5 47,098,400| 1,299,137|48,397,537| 50,300,154 | A 1,902,617 A 38
OFIEE<L<—MWEFTHIEFTEE2S > (HH)
N fCEET (847 : FM)
z s = = @ I 28 = = A =
g%gﬁﬁﬁb@%igﬁ BATEOBNEEZ, AHAOEEERE
3.998(3BLW, BATHEBE BHICHBTS
%ﬁ}%% (}\Dieéﬂﬁﬁﬁ) ) |_$91I3:\)EKL/1I%J Emﬁ_g*%{i@
o o KABIESNE (C BEDN /= 1) DAt T
FNSERERIRSER 10,000 | A B LI BRSICT LT, BERRIES
(fBHeeTRE) 7560
NENEFw B poqa| TWENSFTY k) ZRESETS
- o 213 50 (—ABEDFESFH—1 M)
E (B - EFNED)
C [ s R R At o\ SRR R RIS E D S TICH
EHSIrEhE 06,5007 BHMRBEMEET B2, HEREiEs
(SRHED 9B
e EEEENHT BN, THRIOEENS
KERA VYT TSE 1a006|TYI—Ry FEERL, B<CLERE
] 06| 5\ eH e iR VYT 1 TR AT
- (REEER) T BEDDEREEES LT BED
K PFEIEFEA YTV TRH2OFE108N5, DSIFLEETR
S e 1,200|IC1 Y INTYFFHEEER (E2) O
(CEeEE) —EERNE1TOEBD
N T S ERE DI E B LIESERE
MR ] 2.658| pursspin om g 360
(M)
FPA DT e SYZY HY0— RSEBERSIERE UEY 1
e N 8486|207 « SYZ VI ROFESEES
(B TEDLER) PASI)
KIOA—FIT STV _ _ L
Y 7 0R |HEIEy MEAEBICRITRAIA—F T « SV
TA®E | VI-RBLEREREXR | 38000 -y 50 0 puan t 550
(&t ER)
=2)159) 18T 5D L& . i o
STV D -ADHEEZSDSRIIY
mE= o 1080254555 RoBEEGTSED
o FEFE3)
ABR T mmmosmrE
N) BERHRL] e - _
> (RFR) SEED DRSNS
BREX o 8336815, paTEEsT>60
(EEZER)




